AN & ol & A

2016 & X 2 3 JIEISESH WA (ol @ 9)

20t 22 - ALY - BSIAY (B H) o & oo Jl 3 o HR= -
z H 44,649,824 45,343,265 £693,441|  A1.53%
B 2 ALY 43,812,199 44,632,414 £820,215|  A1.84%
Wess 107, 121 2,000 105,121|  5256.05%
Rt ] 730,504 708,851 21,653 3.05%
2YyEs 38,773,289 39,223,706 A4S0.417|  A1.15%
MBtRE - 28 36,916,602 37,408,688 £492,086|  A1.32%
cEEd 36,838,688 37,408,688 A570,000  A1.52%
St ZBR (S RNLSHEH) 28,386,979 28,486,979 £100,000|  A0.35%
SHBR(FRMLSEEH) 1,809, 192 1,779,192 30,000 1.69%
SHESLRRIAE HXMS(SENLSHEA) 1,000,000 1,000,000 0 0.00%
NeEEERS B2 (SEWLSL ) 380,353 380,353 0 0.00%
HESTR (M TALSLIH) 5,262, 164 5,762, 164 A500,000|  A8.68%
Wegs(2B4Y) 77,914 0 77,914 &5
BHIS(SBMLSEsH) 77,914 0 77,914 &5
B2 1,856,687 1,815,018 41,669 2.30%
Hol2 M X2 1,856,687 1,815,018 41,669 2.30%
EMHS QL EnHel(SENLSESH) 1,856,687 1,815,018 41,669 2.30%
INETEIN 338,469 311,262 27,207 8.74%
PIERE LR 309,262 309,262 0 0.00%
HASE Mgy Q@ 309,262 309,262 0 0.00%
Y220 (AEES S H) 309,262 309,262 0 0.00%
FHorH S 29,207 2,000 27,207|  1360.35%
WREgs(Fa=ny) 29,207 2,000 27,207|  1360.35%
RESSEINLHNE(ARLESSLEH) 29,207 2,000 27,207|  1360.35%
S Y 4,807,562 5,099,446 £291,884|  A5.72%
5. 52 4,807,562 5,099,446 £291,884|  A5.72%
SER- L 4,807,562 5,099,446 £291,884|  A5.72%
SELSANY ZT(S0ELSHYIISSES 4,807,562 5,099,446 £291,884|  A5.72%

A

ol 730,504 708,851 21,653 3.05%
ol 730,504 708,851 21,653 3.05%
YA (FU=XY) 33,136 33,136 0 0.00%
SEEREIEEELEEEEDD 33,136 33,136 0 0.00%
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